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*01. Yo AT Ffasas 1 + (1 +§) + (1+i+—1- + (1 +24-5+5) + - upto (n+ 1) terms
TYE: U, = 1 +1+-";+5"5+ St (1_ﬁ)

1(1-37)

T2

=Sp=2n-——~=2-2(1-%) - ,,H=2(n+1)—-2(1-2:+1)=_2n+2in(Ans.)

02. Tﬁy=x+x + x3 +o 0 WO @IS A, x=y—y:+yd—y*+ .o
T 1+y=(1-x)"'"=21A+y)1=1-x=2x=1-(1+y)?
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03. log (x"y™) =x"+y" ?{CF'I ﬂWWWWﬁ @ n GF0 $I9 |

AN =nlug(xy)=x“+y =nlogx+nlogy = x® +y"

n,ndy _ __n-1 n-1 4y n _eny B e n dy __dy__y1
:>x+ydx nx""" + ny"™. = [d.W.I"tUK]::*I (1—x )—y(y 1).{]‘1{_.»",lx i
s (T/6 dx
04. carrEiod W fdfw s [ ——
Tl _ dx dx cos? xdx
‘Let, I= f 1—tanZx sin®x ftnsi x=-sin? x
cos®x
_[' (+coszx)dx _1 _f (sec2x+ 1)dx = [Z{’n(secz.t + tan2x) + x| + ¢
COS2Z2X
n/6 x =% a1
Now, [7/°—2=— = [*£n(sec2x + tan2x) + ] =[2en(2 +V3) +Z] - (0+ 0) = =+ n(2 + V3)
05. FNIgH TRt — 1 =4
sin 2x cos Z2x
: _ﬁ - 4= ﬁFDSH_Em 2 = 4 :bEEHEZK - lsin 2X = 2Zsin 2x.cos 2X
sin 2x cos 2Xx sin 2X.cos 2X 2 .

= sin G—Zx = sin 4x = sin 4% + sin (2x—§)=ﬂ:>25in (Bx—g).cus (x+§)=[l
= sin (BK—E =O::>3x—§=nrr=:-x=(6n+1);“a- | Wheren € Z.

coS (x+§) =[l=:-x+§= (2n + 1)§:>x=(3n+1)§
06. GFT I y-SrFd TARre =M I 43 (3, —4) g e wifsery e gafoa it w1
STRIYIA: J0aa FRF 4f, x2 + y? + 2gx + 2fy + ¢ = 0; @5 (0,0) P ©R c = 0;
S yTE =M IEelR, f2—c=0=>f2—0=0=f=0.: T[HANTAIXA, x> + y? + 2gx = 0
a3 (3, —4) RpifeiR 9 + 16 + 6g = 0= g = —
X% +y? -2::%:-:: 0 = 2x% + 3y? — 25x = 0 (Ans.)
07. (I TG SrFad AT el 9199 IR €32 ©f 5x + 9y = 45 @ANF x- TqUFG 47 aR 7x + 5y = 36
G y-SUH ©oF (20 A | O Srarasel 8 TARardd g% 97 391

TR T I, S e, S+ 5 =1 () e R (£,0) 31, 9,0)
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L‘Wﬁm 200 metre/sec ﬁtﬂ%%ﬁﬂﬁﬁ‘ﬁ%ﬁﬁiﬁl -?I 10 sec ‘PIFTW“*H GFo TS aﬁmm
MGl B fate Fomst w9t = ofd ot e 3R 3zew Swe fiffe @@, @ e wr @ [dw I
[g = 9.8 metre/ sec?]

LI S TR J28T 8%, h = 222 — 2040.8m @92 3G THOR TP t = = = 20.40s

2x9.8

TS, ST TR RTFT 20.40s =tz wdfte 37 T fFTwe= (20.4 — 10)s It 10.45s 2t 2040.8m THOH TG
fafere x|

4¥, T TR NUF @ = u meter/sec
A9, ux10.4 —>x9.8x(10.4)? = 2040.8 = u = 247.2m/s (Ans.)

foAfe 7&1 1, 11 922 111-97 Rew et wiE 9 3 OF 3R 8 1 OF IE, 2 & IS 6 2 B9 36 49 1 &9
et 8 3 & TES mTE oty 2 v xre Rarerren aees F@ A4 wat 2@, foaua aib a=iEm |
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TR + ST G OF VLA JIETE 9 T FTET AP SR T = x> X2+ Zx T x> 2xTx 2 = 2=
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e (Written) |

2mm JPTCET 9T 6 JBA F01 250m THo! (A WH7 Bok #1gtz | IR @lor Tom wie iy 31 wobt e FI1?
Y SfSTT I QI FoiE, W = mgh =§xnxr3xpxgxh

= gx(3.1416)x(2:<10'3)3x103}:9‘8:{250 = 0.0821)

AT AT B AR 327°C I F1 T ST | 2B AT A6 A1 AT SIS 1: 6 2T I 5L

FAEY SIomar w3 wFEe! {9 11 [y = 1.4] LY,
T
-1 Va
g 2 =1 [Aeie] TV = TV s T, =T ("1)" ! Ql"z- :
; 1.4-1 (PsV4) (P3,Va)
=(327+273) () =293.0156k - 1= (1-12)x100% = 51.16% R P
6 T P—

G0 D ATISITT TATTT T 20m/sec? G 50O SF FAC 1 10sec 2T AL00F 2ETT 326 oIS IF 7 @
IO HAEM® F© Toory (MR of Fdy 391 IS8T Ga-ag 77 10m/sec? 471

FATY: 105 CIE 0T @ = 20x10 = 200ms™! U2 Twel = gxzox(:m)z = 1000m
o1, 1000m BHSt RF 200ms—! QT T TEH Tt = 22- = 2000m

2x10

wdte, A0 B TS F4ifEF (2000 + 1000)m I 3000m THSIH TIF 1 (Ans. )
I G0 csuiEd *Mivda =y 3.8 i | =it = «iw R *mitds <o T© we 91HE A=FE?

A Ty = m=> A === = 018247 . (<) = e7™ = e~1828 = (,23248
3.8 No
3 Wmﬁlﬁw = 23.248%

A = 4000A O CATGIA CPIBA @7 IO T8 S#SS T AT 0.4eV ifSfEa T 1Rreg fsfo T @ 4ga 314
LowS Ry w1

HAHIH: o Wo +Kmax | Kpax = 0.4eV = [I.'ﬂl-xl.ﬁxlﬂ_igl
~34,9,108
=W, = (."_“ _ Kmu) _ (ﬁ.EEdHlu 3x10 ) (0.4x1.6x10~1%)

4000x10—10

= 4,9755x1071° — 0.64%x107*° = 4. 335:-:10-”] = 2. 7093&1!
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QI G (T SSAER TR ey e Aw +ifew 2607 AW 0N UT CIRCS GN THoR SItds Sfowy 09|
SRS WY 8 DI Bwet a1 [g = 9.8ms™2]

TR C18 O GTHTT, — = u + 2 gx(2t — 1) = h = g(2t — 1)
oAl W, h =2 gt? o ogt? = g(at—1)=> 12 —4t+2 =0

sty = 3.4142s; t, = 0.585 (YT ) [@EG t > 1 0L A
s h=>x9.8%(3.4142)? = 57.118m (Ans.)

GG (MIETRE AT 1% Ifa F909, TF (rierss ey 3@ s Q4 ?

101L
Sty A = 86400-x _  fLy _, B6400-X _ L,=L+Laq1% =—
E T2 — B6400 o Lo - B6400 - ‘l-lﬂulul: 100
 B6400-X __ 'ﬂ? ’1_0_0 _ _
S X = 428.79s == = 101 = B6400x — 86400 — x

20 cm G g AR WS 75-Gwe T TS =P 0@ WItg ) @7 Foq TLrg AR 7R o | G R
cErr g e w91 [Fioew efemars =2, A efosars =

ANYIR: AT ST G S0 l—(aug—l) -l——l) = %= (—;-—1)1(%+-:-):>r= 20cm

: fa ry Tz

Tae !
a2 ;'1;: (apw_l)(;j;=é =(apw—1) (%F—%) f:ﬁmﬁmmm;ﬁﬁf?
=G—1) (—% :r:—z= —3—];]- . [ =-=30cm

Y%, 95 CFICSTE (@I g Fom.

AR, F=2+ >+ 1 =24 -+ o= . F=15cm (Ans.)

RGIEH RIS GFo 2ARRT GF6 (ABAE 7 I 0.538 FNd RfFE SRRG e I RETRGA0F
@i wad A 391 [m, = 9.1x1073kg, e = 1.6x107'°C and &= 8.85x10~12C%/Nm?]
AI: [o7F =1 e I W @, CIfaF 39 0]

n_ d
Yn _ = = 4,118 x 10'° rad/s.; Son = (const) =0
'n JATEMInXTn dt t

Vp =@y = O =

e (Written)

0.0003M CHRFET F3ARS TareE pH Rdfr w1

S Sr (OH),-CS [OH] = 2x0.0003 = 0.0006; pOH = —log[OH] = 3.222

.. pH=14—-3.222=10778 (Ans.)
ﬂﬁﬂﬁﬂjﬁﬂ—ﬂ—ﬂmﬁmwﬁﬂw@mmﬂmm@%m? ,
TATYIA; WWE@%%WC@I@ e~ Stz ! lp—1p > bp —Ip > bp — bp. AIfd S[94r® Ip — bp @ Ip — Ip &4

FrarleT | H — 0 — H 36 (e 5R@aald SIpod (I (b FTH 104.5° 21
mewmlwmﬁwmmwmwﬁm?ﬁ@mﬁma @ I

orad 91
Sty 2Br— + Cl, = Br, + 2C1~ #&i@ RIS Cl, *7F Br, @F Totd S[Fe | @Al Cl, «F AfEFTS! Bry SUATHI

@fit @i Cl, Br- (& &fSgeM F9d|
SIoMIAl 25°C (ITE 35°C ¢ e T (ant e fomadt 3 = | i Fieraet o= (E,) ¥4 fAda ==

inKz _Ea (1 1 — Ea  1.0895x107* T, =298k, T, = 308K
W'lnr{i_ - (T1 Tz)=>ll'l3 s 1 2
— E, = 83854.4112] = 83.85 k] (Ans.) K, = 3k,
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23.  25°C SI#[iat @ 1 atm B1Cot 18.5% N, 0, fRrifers 308 NO, =1 & STNIAR @ 0.5 atm Bt N,0, O fReate it

PO IA?
(i)zf‘*E 4a?P _ 4x(185)%x1 _
AAYIF: oo = 0.185 ;kp = IT%P S m e = (0.1418
a
Let the dissociation rate is o; at second case N.0, = 2NO;
2 -
1—112 l—ﬂ'.z t = W 1_0. 2{1

= 0.1418 — 0.141802 = 2a2 .. o, = 0.2573 .. o, = 25.73% (Ans.)
24, SR QTR IS WS B
(2) ~ICIFEAIN FERTRMIRE (b) (IR TR (c) GIITEHN (FRIFoIGIa6 (d) CSItNIRE (&) @RI SO
Y (@)K, [Fe(CN)g] (b)(NH,),SO, .FeSO, .6H,0  (c)Naz[CO(NO,)¢]
(d) CaCO; . MgCO, (e) K,S0, .Cr,(S0,)1. 24H,0
25. foofers RIZGHa w6 730t @SR @RI3T (@ @REEfe3s eEred RidFaate (rans |

W- CEHS _'CHZ _Cl"l"H-' DH — CEHE_CHE —OH"“HC]
CH,OH
Cu(NO3), + 2HCl = CuCl, + 2HNO; ; 2HNO; — H,0 + 2NO + 3[0] @ +[0] — @ . H;G

26. THIoT & QAereTErd o sifofie A )
(a) 1-GFIH-2-F3e RBWE  (b) 0-FFFIETEET AffS (c) T e (d) YTFEeE () o

S COOH CH, — COOH
TAYI: (a) f:]H2 _CH-— CH, — CH, (b) @’SQ“ (©) LHE .
o

C|HD cl—gl—m
(d) CH (e) Cl—@— -@—

CH»

27. (2) B (IF MFve Qe (2- I T affre) tefm i silrea s ordre
(b) TTS-CIE RfEaR T S I SritsiEaEm cofia aftrat STt JRIwy @dns |
OH DH

<20°C | H,0+H*
JAiYE: (a) CH; — CHO + HCN —— CH; — (F —CN — CH; — CH COOH
H

NH, N,Cl N,Cl I

0-5°C HI
(b) @ +HCl + NaNO, — @ + NaCl + H,0 ; @ + KI — ©+NZ+KCI

Zeater (Written)

Read the following passage and answer the question numbers 19-21 that follow:
It is a rcal wonder that people in our country are not dying in scores eating what we call food. There is hardly any

food item from fish to meat, vegetables to milk and biscuits to chocolates that is not adulterated in any way or
another. Recently we have come to know from newspaper reports that a whole variety of adulterated food 1s getting
caught by mobile courts across the country. Newspaper reports have also brought to light the magnitude of
adulteration of almost all sorts of food items. The mobile courts are actively operating their inspections and punishing
and fining almost all the hotel managers for using unsafe food ingredients and keeping their kitchens unhygienic. The
mobile courts have also caught the restaurant people red-handed for using chemicals and artificial colors, which are
usually used in dyeing clothes, in food. The mobile court is formed by the government following newspaper reports

on adulterated food.
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Substandard and unhygienic food stufT is being sold in most of the hotels and restaurants indiscriminately. As a result
of eating stale and unsafe food, people are suffering from serious diseases including diarrha and dysentery round the
year. The dishonest and unscrupulous businessmen and hoteliers are not maintaining the rules of the Bangladesh
Standard and Testing Institute (BSTI) and continue to sell foods unfit for human consumption.
We, the general consumers, are always keen to have fresh food for our safety. The government deserves appreciation
for its initiative. In this regard, we hope that the BSTI will be made active and do what it is supposed to do. It should
ensure that consumers get at least reasonably safe food. It is our right as citizen of the country to get pure and safe
food.
28.  Indicate, whether the following statements are true or false. If false, give the correct information.
(a) The unscrupulous businessmen are doing food adulteration with the help of some honest officers. Ans: False
The unscrupulous businessmen are doing food adulteration with the help of some dishonest officers.
(b) Toxic chemicals are mixed to make the food pure.
Ans: False. Toxic chemicals are mixed to make the food impure.
(c) The corrupted officers of BSTI must be brought under the law. Ans: True
(d) The hoteliers serve standard food in our country.
Ans: False. The hoteliers serve substandard and unhygienic food in our country.
(e) Government must have accountability regarding public health. Ans: True
29. Fill in the gaps with the correct form of verbs provided.
Unsafe foods (a) sold (sell) in most of the hotels (b) cause (cause) health hazards to the consumers. The restaurant
people have (c) been caught (catch) red-handed and (d) punished (punish). So it is high time that we (&) took (take)
actions against them.
30. Fill in the blanks with appropriate words to provide some information about food adulteration.
In (a) solving the prevailing problem of food adulteration, the government has (b) formed mobile courts. Law
enforcing agencies are (c) actively operating their inspections with a view to (d) catching the dishonest hoteliers red-
handed. To strengthen this initiative, the BSTI should be made more active for the (e) greater interest of the country.
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0. —8—6V—1 aq I+ s
(a) & (1 +3i) (b) £ (1 — 3i) ()3 —i (d) 3 +i
SYE: () ; +V—8—6i= +12-23.i.1+ (3i)* = +J(1-3i)2=(1-30)

02. Kﬂmﬂﬂmw(ﬁ—xﬁz)ln a7 S x IS I 405 TR?
(2) 0,2 (b) —3,2 (c) 3,2 (d) 3,-3
S: (d) ; 0C,x5TKExZ nr=2 . 1°CK? =405, K= #3

03. —2 — 2i e Fifba onémro Mdw =

(a) (b) 2 OF- (d)3
T ()33 —tan™ 5 =35 -5= 7

04, Ify =x"Y/%, thenst =7 |
@x*(logr—1)  ()—y(ogx—1)  ()5x(1~log) (d) x*x(1 — logx)
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15.

J’E sin® O cosO d TIF F=-
OF OF CE @2

i
xX=+0
6 49 7 2
@)% ®) 3 ©3 (d)3
2
. 1—cos 7x . Eslnzz—r 25[1’.’1??:Ilt 49 1 49
TR () Lm g = Um =t =25t ) T a=%

I tan? 0+ secl =—1;0<0 < 270 %Y, O 0 99 II1 13
OF: () OF @3
T (a) ; tan* 0+ sec®O + 1 = 03f, sec?0 +secO =09, secO=—19,cosO=—-1..0=nx

AR @l 0aa @ (4, 3) Reqre w1ye | foy ee Repatea W (ot Regfb Juae Bom wfge w7
(@) (—1,3) (b) (9,3) . (c) (0,3) (d) (8, 0)

FAYL: (c) ; TRAFAS (x — 4)2 + (y — 3)2 = 52 @I=9F (0, 3), A3 W e Frw Fwa )

I8 y? = 2x 9O O ISy TIAT RIBS CHLae CFape s

(a) ésq-units (b) gsq.units (c) Esq. units (d) gsq. units
TAHIYIA: (c) ; ﬁrﬁﬁﬁml%’lﬁﬁﬁﬁml
Parabola is: y% = 2x = 4. x = Area=2[ 2 7% 2~,/_x X [:-:3"2]”2 = wa_xgx-i—x:% =§

ﬂﬁﬁﬂfﬁwm waﬁmﬁ«/—cmmﬂaﬂ mﬂamwaf%m 12sq cm  ifEset 35 #17 wrzge

(a) 4 cm (b) Bcm (c) gcm (d) gcm
W@),E—\/——-—l q, — ( )=123T,§.2r$=12 oT ?‘:4:-:;:—_=B

w%ﬂmmﬁéﬁaﬁﬁmw IFGH FCOIbIAE TS 5 — 1b ST9 {0 ¥ 85 0z — wt 5i*f 8 I |

2 10 sec @ @EAD IS Tl Tore I ?
(a) 50 ft (b) 100 ft (c) 200 ft (d) 150 ft

STAIYI: (b) ; CIEd A £ 7, — xg = 5x(f+g) [+ 160z = 1 Ib]

:>f=;13=2ﬁ:5‘2 %ﬁrr h_-fﬁ:-xzxw? 100 ft
qﬁmmﬁaa¢mﬁmaﬁmaﬁtﬁww|@ﬁnﬁaﬁmwmamﬁaaﬁﬂm@mﬁwm
RITET g FAFE 1 metre G ; metres | GBI PITLT T BIo T2

(2) W (b) 3W (c) 1.5W (d) 2w
mTNH:(b);ET’I=w(1+E) (1+—E = 3w

T A =1+ 2) — 3k @@ B = 31—+ 2k W, ©IZ1 A + B ©3R A — B T4} (i R

(a) 60° (b) 30° (c) 90° (d) 120°

A (c);A+B=4i+]j—k; A—B=-21+3j-5k '
A+8).(A-B)=-8+3+5=0 .WGI& @I 90°

% AB = 2 +] 932 AC = 31 +] + 5k T, ST AB 6 AC (< RS IR 477 AFS A CFare] 3

(2) 8V5 (b) 5v6 (c) 3V14 (d) 6v5
N ;) E )

ATYA: (c) ; ABXAC = é i ol =i(5) =j(10) + k(z—3) =51 —10j -k
3 15

. Area =25+ 100+ 1 =126 = w.f
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100 ATF SF ICF 999 ﬁﬁ@ﬁtﬂmﬁmﬂﬁm GF0 #f 725 ﬁEIT"-z?"H ﬁﬁ*ﬂﬁﬂ%ﬂﬂ&%ﬁﬁﬁﬁﬂm

AW FE7?
(a) — OF OF (@) =

SARIYIA: (b) ; TR [T Qo) s =eE 59 71 125 61 . F@Eyel, P = — = =22 _2

999-100+1 900 36

1 4 x 22 4 x

g allead x- g9 ZE@s |2 5 8l=|26 5 8 [Ans: a]
3 6 91 130 6 09

(a) 7 (b) 6 (c) 8 (d)9

fafsre ot 9992 11001 — 1001

(a) 10000 (b) 1000 (c) 1001 (d) 10101

AHIYME: (a) ; Use calculator in binary mode.
4 ST I TS I (AT = 2) eweR T G dfwhts ¢ wrfie e @ m wSefee

¥ @ ef e 9 g o8 2, oI afesad e g

900
4501 - 45°

() o ew@  omE

FAIHIS: (b) ; sin 45° = gsinr = sinr = :—&:5 sinr = % ;. T = sin_lg

A oe R (HARRS St T w172

(2) @SS oo (b) 9F/-E (c) IYLS % T (d) ETFI-FE EGar=

ST (¢) ;WWWWWI
1 cm? gron [ il e G Red i A0S I ATHEA A8 [Y = 2x10'N/m?]

(a) 10’N (b) 2x107N (c) 101N (d) 2x10™N
W: (b) : F = YTH - Exlﬂlixixlﬁ-‘lxla [{] . ZL & L — L] i leﬂ?N

@I AGIATS M SED JFIR I IERe v. 64M SEF S G0 AR CHEEd a3 RIS SayEe
IO JJ?

(a) v (b) 4v (c) Bv (d) 16v
1 1
TR: (d) ; M = Smrf =1y = (ﬁ) r, = (ixm)34=4r1
2
Vi =5 ri(ps = pgs Vo = 513 (ps — P = 5 i V2 = VX(4)* = 16v

1mWABW&MWW ao°c nﬂﬁaBﬁmﬁﬁW 0°C. VTG A &® (TF 60cm ATg Stefal

2028
(a) 16°C (b) 32°C (c) 48°C (d) 64°C

STAIA: (b) ; A &S (AT 60cm It B &G (ATF (100 — 60)cm A 40cm 3, 0.4m LT Sl == x80°C = 32°C
fb 25 watt W32 100 watt (IGIEF IS SHENS AN TS I OGS, AL (AT 267 | SIRLE-

(a) 100 watt I TFTSTSIE GGl (b) 25 watt I CHEASASITI G

(c) ToF i@ ST Segerely §ed (d) ©AES (TN = 25walt 25walt  10Qwalt
2 2 2 2

S (b) ; We know, P == =R =2 ; Rps = %= > Rygo = = 1

ifTers et cangm s e 1o emifEs T 1 GToweE P = I2R |
4R P o R 29| &l 25W mwm@ﬁmmﬁﬁﬁwmmwl

ofAS AT SO HAVT b1,




%

25.

26.

27.

28.

29,

30.

31.

32.

33.

34,

9.0x10~13cm TSR wafo W ﬁ%f?ﬂrc-'ﬂ (z = 50) oirévsﬁsaﬁ—mw“

(a) 9V (b) 60V (c) 9x105V (d) 8 x 106V
AN (d) ; V = 1 ze _ 9x10°x50x1.6x1071% — 8x105V
’ 4NEq T Gx10—15
GF (FIOT (o 400V o <idw aar &7 7= =) G A svege faed IEmd [f2 wicst cbe
g ardre Roq idrers ames 298
(a) 800V (b) 1600V (c) 3200V (d) 400V

F='E|E1

TR (c) ; P 1w et By = 2 [m = 2or® p]%}

another case, m’ = -:;xnx(Zr)%p = B:-:—n:rgp = 8xm E; =

mg

=*E [charge same] = 8E,

= 22 = 8x "1 =V, = BxV, = 8x400V = 3200V.

Eﬁ@ﬁﬂﬁwﬁw sifere GG qIteR | SItha STeifre @5 TaS

() c OF I TN (b) c A (BT = () c (d) O @D T
YA (c) ; TR QO @I ST G2

1kg S T=dwe *fete weieiie e e @b A %=3-

(a) 9x10%¢] (b) 3x1019] (c) 10%9] (d) 101¢]

HAYE: (a) ; E = mc? = 1x9x10® = 9x1019]

ARCAR AR FIHF P T3 [Ans: d]
(a) 0° (b) 90° Ua I (c) 90° (d) 90° O &

GF0 IBT G2 ‘a’ (in ms™2) FYY 't’ (in s) 9T AL a = 3t + 4 FANFI AT ARR/AES 201 t = 2s T30y 8o A
EIGH
(a) 10 ms™? (b) 12 ms™? (c) 14 ms™? (d) 16 ms™1
2
TYE: (c); fdv=[adt=>v= f:(3t+ 4)dt = [3x§+ -‘-I-xt]ﬂ = 3x§+4x2 =6+ 8= 14ms™*

qFE [FRoE b I AEH 100m SORT Fa0g RErS Al | U2 T (o i (e $AEN e Fo
THO TGO AF?
(a) 50 m (b) 75 m (c) 100 m (d)125m

AAY: (a) ; Rypay = "’; =V, = 1/9.8xRpnax = V9.8x100 = 31.30495ms ™

H . = ”:—g = (31.304) % x 9.8 = 50m

e BRSPS (@1 8T TR 8 Aea WYy wHE AT -3- [Ans:a]
(a) 5 (b) m (©)0 (@) —3

a0 g warea aArireif 9fe = [Rga ey g

(a) A (b) OF (d) 0

T4 (b) ;

40 G4 GF O 13! IR JAIFE Fa e | J0a ANOTH TSN AT T4 (1Y T3

(a) 40 (b) 10 (©):0 (d)=Q
202
IALI: (b) ;WWAOE A 8 B OF TYFR TN ({7 F900 A |
20

AT AT 26T @Y SET T Q3L ST 2 ANEAE AP |
-1
“Re(a1B)=(2+1) =1 -
CIECICIGE R L (< REEL Rl 1 |
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35. BRD IEF G2 Tifeaedt B e 25°,35°,45° @3e 69.7° RSy FArsed @nd Foss v == @W =t
AT T AN Tors e wpie?

(a) 35° It MfPg T (b) 25° i RS I (c) 45° R fAfFE T (d) 67.7° et [Wfee 3=
AAYH: (b) ; T = ”“:‘“ﬂ = constxsin®, sind TS TN I T ©© T B I 25° (FIR I

36. (0 T0I G0 120 m ST o (AT 5 AT @ 400 kg =11 Sraes 9o 7567 | a7 TLETe] F©7?

(a)3.0 hp (b) 2.8 hp (c) 2.5 hp (d) 2.1 hp
w
T ()5 7 = 75 = 7o = “yresogs” = 210D
37. TIEFIR0-AT ARTHAE ALTS 21 [Ans: d]
(a) CaCO3. Cu(OH), (b) CaCO0;. CaSO, (c) CuCO,.Ca(OH), (d) CuCO,. Cu(0OH),
38. (S (GRIFIAIRG (XeF,)-ud Syififes sjom z=is
(a) PR e (b) vy wofiwE (c) 37 foraifire (d) TR DR A

F ) F
Y (b) ﬁxuj
F Q F

39.  THtoa 1N SR 7@ KI-99 SAm 09 200 1, TR FI00 TH?

(a) Cu®? (b) Fe?* (c) Mg** (d) Ag”
TAYE: (a) ; 2Cu?* + 4KI = [, + Cu,l, + 4K*

40. fAeos PrratE T4y @WD CGE? [Ans: b]
(2) SITATACF YRGFIEAIIR (b) STIEFEFTIR
(c) SIEAFIZATIZ (d) ST PPTR

41. SFie AT a6 AfFE, aF AT 20eRs [Ans: c]
(a) CATIRFTN (b) B (c) RGN (d) "BIRfew

42. He5a AvtetEa Tty @A Sare @ifiae e f[fen 3w@?
(a) C3Hg (b) C;Hg (c) CzH; (d) C4Hyp

AN () ; SEFI2A =S Br, @ A [ S, S/ 71
43. Jreoa A RisFa=tSt chiwba iy mss

(a) @ (b) Giifez (c) Grifs (d) T @IRBE
FAHH: (c) ; Si0, + 4HF - SiF, + 2H,0; SiF, + 2HF = H,SiF,
44. QFID SCOT STHOT J05R8 [Ans: a]
(a) RfFam Teimetad vt I SHELT REE 19 36
(b) Tt ¥ [T we I
(c) T uSo fRferae siferas s
(d) T =i f[feFas fee Ifw o3
45.  100% H,S0,-99 Sfea AfEs SO, 57 BieT"! FareT Wibe AlINSTER 04T NG T om =1 717 [Ans: a]
(a) AT (b) YT H,S0, (c) e (d) H,S,0,
46. =& X JEF 5T @FT?
(a) HCIO, < HCIO; < HCIO, < HCIO (b) HCIO < HCIO, < HCIO, < HClO,
(c) HCI0, < HCIO; < HCIO < HCIO, (d) HCI0, < HCIO, < HCIO, < HCIO
HAYI: (b) ; <A @S Cl @7 st wApt i s e gf)
47. INEETSA 1O SEEIE, ARads 9k 29w Toes [Ans: b]
(a) CTHFS (b) fEarfe (c) ™ I1ZareT (d) Toftam DS

b il o ""4"."" a i e .-" e - .
ey & s T AfdQCTa SSITH R AT,
L] 1




48.

49,

30.

51.

32,

33.

54,

<k

56.

37.

58.

39;

60.

AT T ATS zrms

(a) FAfRTI (b) S (d) 4199

C3HgO 99 70 31 5= ?

(2) 2 | (b) 4 OF (d) 3

SAYIH: (d) ; CH3CH,CH,0H/CH; — CH,(OH) — CH3/CH; — CH; — 0 — CH;

GRFNEET afes a3 Srge z=is [Ans: b]
(a) WiEFsleT affie (b) Mzl affe (c) eoiiET afie (d) =i oS

e ke RtFarerse St @WBa TRIET A@IAIE propan — 2 — ol (4TF 1, 2 — dibromopropame 2¥s
FqA 7

(a) Frewta 7= e (b) SRR *IF WRCGIRA

(c) LA i QYCGier 2 (d) TG ERPIEE A AL

STRIYT: (a) ; CHy — CH,(OH) — CHy —29 CH4CH = CH, —3 CHj — CH,Br — CH,Br -
63 T AMPeTER My @R AEIT, K, AR Fa0s AIE? [Ans: b]
(a) 519 (b) It () Tl (d) FSRF

63 SRSt W @R SAufas 5% 99g 8 CIFRIRER el FI0 @ N2

(a) Li* (b) Na* (c) Rb* (d) K*

FAHIA: (a) ; G T TAT (TS [NTE CAARMRET Fo! 8 BE @ 2 A

ftee A fferar 29 39, K-9a Afds aam? [Ans: c]
(2) K= log " (b) K = {x - (c)K = 7loge > (K = log—2—

Read the following passage and answer the question numbers 55-58 that follow:

The American architect and engineer, Buckminster Fuller, was born in 1895 in Massachusetts. He devoted his life to
the invention of revolutionary technological designs to solve problems of modem living. He is best known for his
development of the geodesic dome, which is a modern living extremely light and yet enormously strong spherical
structure composed of triangular pieces. The geodesic dome is an application of his principle of deriving maximum
output from a minimum input of material and energy. In the 1950s, many of thesc domes were built for military and
industrial uses. A considerable number of homes also have been built using geodesic dome structures, Fuller was also
a controversial writer. Among his many books are Nine Chains to the Moon (1938), Ideas and Integrities (1963 - an
autobiography), Utopia or Oblivign (1970), and Earth Inc. (1973).

Which of the following would be the most appropriate title for this passage? [Ans : b]
(a) The Geodesic Dome  (b) An American Architect (c) American Architecture (d) Revolutionary Designs
Which statement best describes the dome? [Ans :d]

(a) It uses a lot of material, but takes less energy to construct than traditional structures.
(b) It takes a lot of energy to build.

(c) It is very spacious.

(d) It takes less material and eénergy than traditional structures.

A geodesic dome is closest in shape to- [Ans :c]
(a) a tube (b) the end of a box (c)ahalfof aball (d) the tip of a triangle

Fuller wrote about his life in his book- [Ans :a]
(a) Ideas and Integrities (b) Utopia or Oblivion

(c) Nine Chains to the Moon (d) Earth, Inc.

Fill in the blank with an appropriate idiomatic expression chosen from the corresponding list provided below.
He had to for his rudeness, [Ans : c]
(a) burn the midnight oil  (b) fan the flame (c) eat humble pie (d) move heaven and earth

The man in an unguarded moment. [Ans : d]
(a) was true to his salt (b) burnt the candle at both ends

(c) hung in the balance (d) let the cat out of the bag
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